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Question Number : 1 Question Id : 284703547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the below is the convenient place to store contact information for quick retrieval?

Options:
, » Message box

> « Address book
= % Address box

4 % Index book

Question Number : 1 Question Id : 284703547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 284703548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following methods represents showing a shortcut menu during the slide show?
Options:

, w Clicking the shortcut button on the formatting toolbar

- « Right clicking the current slide

- » Clicking an icon on the current slide

4 % Pressing shift +enter key

Question Number : 2 Question Id : 284703548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 284703549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that represents the method that CANNOT be used to enter data in a cell in Microsoft Excel?
Options:

, w Pressing an arrow key

> u Pressing the Tab key

-  Pressing the Esc key

, » Clicking the enter button on the formula bar

Question Number : 3 Question Id : 284703549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 284703550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following represents a primary storage device?
Options:

, = Magnetic tape

> « RAM
z % Pendrive

4 % USB

Question Number : 4 Question Id : 284703550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 284703551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In PowerPoint, under which menu can one find the slide sorter command?

Options:
1 ® File

> % Tools
2 o View

4 R Edit

Question Number : 5 Question Id : 284703551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 284703552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option represents another name for the server on the internet?
Options:

, = Repeater

5 % Gateway

= o Host

4 % Router

Question Number : 6 Question Id : 284703552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 284703553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When you start a web browser, the first web page that gets loaded in the browser is called:
Options:

, = Userweb page



- u First web page

- u DBeginning page

4 Home page

Question Number : 7 Question Id : 284703553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 284703554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is NOT a part of CPU.

Options:
; % Memory unit

>  Program unit

5 » Arithmetic and logic unit

4 # Control unit

Question Number : 8 Question Id : 284703554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question Id : 284703555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following operating system does not implement multitasking?

Options:
1 + MS DOS 2.0

> % Windows NT
= % Windows 98

4 ® Windows XP

Question Number : 9 Question Id : 284703555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 284703556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following tools helps vou to see the contents of an area on a computer screen when they cannot fit the

current viewing area‘pana’?
Options:
1 « Scroll bar

> % Dragbar

- % Navigation bar



, % Program bar

Question Number : 10 Question Id : 284703556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 284703557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Liz can receive e-mails, but she cannot send an e-mail. Which of the following is most likely causing her problem?

Options:
, % POP3
5 « SMTP

s % IMAP

4 % UART

Question Number : 11 Question Id : 284703557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| « POP3
> v SMTP
= = IMAP

. % UART



Question Number : 12 Question Id : 284703558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is NOT a web browser?

Options:

L % Netscape Navigator

> u Internet Explorer
= % Mosaic

4 ¥ WWW

Question Number : 12 Question Id : 284703558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 13 Question Id : 284703559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key(s) should be used to switch between programs?

Options:
1 « Alt+Tab
> % Shift + F10
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Question Number : 13 Question Id : 284703559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

m#mmm#mmﬁﬁﬁmﬁﬁf@ﬁmmmmw



Options:

.« Alt + Tab
. % Shift + F10
z ® F1

4 ® FS

Question Number : 14 Question Id : 284703560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that represents the type of device that a computer monitor is.

Options:
1 % Software

> % Processing

5 % Storage

4  Output

Question Number : 14 Question Id : 284703560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 284703561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The default extension of a PowerPoint 2010 document is:
Options:

1 ® ppt



Question Number : 15 Question Id : 284703561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

5 % pdf
5 o pptx

. % -PPS

Question Number : 16 Question Id : 284703562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a mailinglist?

Options:

1 « Collection of e-mail addresses

> % Collection of files
= % Collection of folders

4 # Collection of dates

Question Number : 16 Question Id : 284703562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 284703563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following options is another name for minicomputers?
Options:

| « Midrange Computers

- » Handheld Computers

5 » Mainframe Computers

4 % Micro Computers

Question Number : 17 Question Id : 284703563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 284703564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the process of restarting a computer without turning off the power.

Options:
1 # Cold Boot

> o Warm Boot

=z % Hard Boot



4 % Dead Start

Question Number : 18 Question Id : 284703564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 284703565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pointing. Clicking, Double Clicking, Dragging and Right Clicking are the five actions associated with the use of which
of the followmg devices?

Options:

, » Keyboard

> % Monitor
= « Mouse

, » Headphone

Question Number : 19 Question Id : 284703565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 284703566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options represents the correct full form of WAN?

Options:
% Wap Area Network

> « Wide Area Network

- w Wwide Array Net

4 % Wireless Area Network

Question Number : 20 Question Id : 284703566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 284703567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dot matrix is a type of:

Options:
1 # Disk

5

> « Printer
= % Scanner

4 % DBus



Question Number : 21 Question Id : 284703567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 284703568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To select multiple files, open the folder containing all the files, click the file you want to select. and then. as the last
step
Options:

. « Dbress and hold down the ctrl key as you click each file you want to select.

- % press and hold down the alt key as you click each file you want to select.
- % press and hold down the shift key as you click each file you want to select.

4 % press and hold down the home key as you click each file you want to select.

Question Number : 22 Question Id : 284703568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 23 Question Id : 284703569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following options represents the area in the computer where a document is temporarily saved when we
wiork omn it?

Options:

1 o RAM

> % ROM
3 % CPU

4, % Flash memory

Question Number : 23 Question Id : 284703569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 284703570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
C. BASIC, COBOL, and Java represent which of the following types of languages?

Options:
1 # Low-level

> % Machine-level

5 u System-level



4  High-level

Question Number : 24 Question Id : 284703570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 284703571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following options represents the repair for known software bug, which is generally available free of cost
om the Intermet?

Options:

1 % Sub Version

> « Patch
= % Tutorials

4 # Upgrade

Question Number : 25 Question Id : 284703571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 284703572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
transmission mode is used for data communication along telephone lines.

Options:
1 % Parallel

> « Serial
2z % Drive

4 » Digital

Question Number : 26 Question Id : 284703572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 27 Question Id : 284703573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Date and Time are available on the desktop at

Options:
% Keyboard

1
- » Recycle bin

- » My computer

4 « Task bar



Question Number : 27 Question Id : 284703573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 284703574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Each on a menu of a document performs a specific action.

Options:
1 % client

5 #® Server
3 # node

4 « command

Question Number : 28 Question Id : 284703574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 284703575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a collection of information saved as a unit?



Options:
1 # Process

> « File
z % Path

4 % File extension

Question Number : 29 Question Id : 284703575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 284703576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
holds the ROM, CPU, RAM and expansion cards.

Options:
1 % VGA card

®

Hard disk

M2
®

.

= « Motherboard

Plotter

o
u

Question Number : 30 Question Id : 284703576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_ # U7, @y, 3 3R e #1E g B

Options:

1. % mﬂ?



Question Number : 31 Question Id : 284703577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is NOT a valid data type in Excel.

Options:
1 #% Number

> « Label
= % Text

4 % Date/Time

Question Number : 31 Question Id : 284703577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 284703578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following symbols is used to enter number as text in MS Excel?

Options:

2. %3 Y



Question Number : 32 Question Id : 284703578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 284703579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where can you find picture style group in Microsoft Word?

Options:
; w» Mailings-=Format

> « Picture tools-= Format
% # View->Format

4 % Insert-> Format

Question Number : 33 Question Id : 284703579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 284703580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option represents the full form of OMR?

Options:
.+ Optical Mark Reader

5 % Optical Marked Reading
5 % Optical Moon Right

4 % Optical Me Right

Question Number : 34 Question Id : 284703580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 35 Question Id : 284703581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following represents a passive threat to a computer security?

Options:
1 « Malicious Intent
> w Interpreting

= # Accident Errors

4 % Espionage Agents

Question Number : 35 Question Id : 284703581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 36 Question Id : 284703582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following represents the process of taking out a file from a compressed archive?

Options:

,  Extracting

» » Pulling
5 # Restoring

4 w Deleting

Question Number : 36 Question Id : 284703582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 284703583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Word 2007, you can align the selected paragraph to the right side of the reading pane by pressing:



Options:

1 ® Ctrl+E
> % Cirl+L
3 o Cirl+R
4 % Crl+1

Question Number : 37 Question Id : 284703583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % Ctrl + E
, % Ctl + L
2 v Ctrl + R

4% Ctrl + |

Question Number : 38 Question Id : 284703584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What represents the process of finding errors in a software code?

Options:

, % Encoding

5 o lesting
- u Running

4 # Debugging

Question Number : 38 Question Id : 284703584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e FT A TR T F 9fsar Fr Feaef@a & @ 7 geiar 272
Options:

R GEEE



Question Number : 39 Question Id : 284703585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A bridge has the filtering capability. which is not present in a

Options:
1 % repeater

> « hub
3 % switch

4 % router

Question Number : 39 Question Id : 284703585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
wF BT F fheeiisr SRR i &, S = 7 Aisg 7 g 2

Options:

1% i! “EI

> o &Y
3_5&%?

4 % 3T

Question Number : 40 Question Id : 284703586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which feature in Windows 10 enables the user to print using a wireless printer?

Options:
1 #% Wi-FiPrint

5 « Wi-Fi Direct



5 » Wi-Fi Assign print

4 #% WIi-FiSend print

Question Number : 40 Question Id : 284703586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

C’I;;C;rl1vér?;? T BIER 3YARETERAT T TF JOed el ¥ BT F9 F @7 §41a1 87
Opions:

. bk e

> v TH-FS ST

. e e R

o T ¥ e

Question Number : 41 Question Id : 284703587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following process is used to start, stop and change their default services with regard to security task

manager in windows operating system?
Options:

| « Services and controller app
- % Services .exe

3 % Net service

4 8 Se stop

Question Number : 41 Question Id : 284703587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fo & & e 31 wfean, BT AoifE s 7 g & waus # #@ue Twiee mEnd = 9F, 92
w7t T TEEs & wo g B0

Options:

, « Services and controller app

- #® Services .exe



= % Net service

4 % Se stop

Question Number : 42 Question Id : 284703588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
tab is used to associate file name extensions with application file types.

Options:
, « File types

> % File extension
- % File name

4 » File application

Question Number : 42 Question Id : 284703588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

b 3 39Tt TR WIE EEY & O FEA A6 TENee = s F By S e #
Options:

| v PSS TETH
L« TISA TEHECI

.« FISA A

. IS TCilher

Question Number : 43 Question Id : 284703589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
XML filter setting option is available in which tab of open office writer?

Options:
1 ® File
> « Tools

= % Format

4 % Insert



Question Number : 43 Question Id : 284703589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
M T TSeT F #iF ¥ &5 7 vogvAve fheer aféer e 39erewr 27

Options:

1% HER

o o o

3_55?%
4.%-3$ﬂ:ré-

Question Number : 44 Question Id : 284703590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
is a graphical representation of numbers.

Options:
1 Chart

» » Legend

5 % Range

4 % Cell

Question Number : 44 Question Id : 284703590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

&I FT Tk Aiherel 989 g

Options:

| v T

4 % WA

Question Number : 45 Question Id : 284703591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which among the following tools is used primarily for only multiplication and division?

Options:
1 « Slide Rule

> % Bodmas Rule
=z % BIDMAS Rule

4 #® PEMDAS Rule

Question Number : 45 Question Id : 284703591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

7T 3R femew & o FlRe & @ #ia @ o mufEs & & w3 fear e g2
Options:

. v TS &

Question Number : 46 Question Id : 284703592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options represents the first step in sizing a window?

Options:
1 % Point to the title bar

> % Pull down the view menu to display the toolbar
3 o Point to any corner or border

4 # Pull down the view menu and change to large icons

Question Number : 46 Question Id : 284703592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tafofae feear # @ #iF @1 ST v &= #F g F3 F7 98T FH 27

Options:
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Question Number : 47 Question Id : 284703593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option represents the button that appears immediately after a window has been maximised?

Options:
1 % The closed button

®

> % The minimize button
= # The maximize button

4 « The restore button

Question Number : 47 Question Id : 284703593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BT T FeT 38 9e @ q2far § A 6 7 AFAEST F F [T a6 Tard e g7
Options:
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4.9’@?@

Question Number : 48 Question Id : 284703594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the purpose of a computer port?

Options:

, « Tocommunicate with other computer peripherals



- % Tocompile computer programs

= % Toremove virus

4 = To take printouts

Question Number : 48 Question Id : 284703594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Teh HFCGEL G @ 3037 FT 87

Options:

| v T FUH AET ITHON F FAY FaE FA F @
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o #
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=

Question Number : 49 Question Id : 284703595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which type of network is used by phone lines?

Options:
1 % WAN

> « LAN
s % WWAN

4 # Wireless

Question Number : 49 Question Id : 284703595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
BT SSAT & SIRT 358 IR & AeTs &1 39T AT Frar 87

Options:

. = WAN




-« WWAN

4_@631'&1@'9'

Question Number : 50 Question Id : 284703596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TELNET stands for:

Options:

1 + Telecommunications network

> % lypewriter network

= % Terminal network

4 % Telenetworking

Question Number : 50 Question Id : 284703596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TELNET & 90T &9 &

Options:

l_wéﬁmﬁmméﬁ#

, « TIBNISET ATafeheT

e LY LY
5 % CIHdo Acds

4_&&%%%%1-

Question Number : 51 Question Id : 284703597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a popular chat service?
Options:

1 % Internet release chat

- % Internet request chat

= # Internet resource chat



4 « Internet relay chat

Question Number : 51 Question Id : 284703597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fr=faf@a & & #ia @ & aeihg 3 glag 82

Options:

|« SeeE R ¥

, « Fete REFaTe I
. « St Raw I

, v ST0E R ¥

Question Number : 52 Question Id : 284703598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option represents the name for the internet-based group where discussions happen about specific topics?

Options:
1 % News

5 of News group
- » Network Group

4 % Telnet

Question Number : 52 Question Id : 284703598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T FereT v Afire fww F a7 & Zetae W S S I= FT A1F 20T 272

Options:




Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 284703599 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension

READING COMPREHEMNSION

28470351
2

Online
Mandatory
1

1

5

Yes

No

1
28470351
Yes



Beead the ollovwing passage and answer the guestions

siven below;

O day a voung man was standing in the middle of the
foownt proclnimsmng thal lie bad the most beaniifo] heat o e
whole valley. A lavee crowd gathered and ey all adiired las
ezart for it was perfzct thers was nof a mark or a flow o it=yes,
they all agreed it truly was the most beaufitul heart they had

BVl BOCT.

Snddenly, an old man appearsd af the front of the crowd
and asked, "Why your hearm is nof nearly as beandifill as mine™
The crowd and the voung man beokad acthe cld man's heare. Is
was tull of sears. Tt had places where pieces had haen removed
and other pieces purin bur they didn’t fit quite right and there

were several jagged edges,

The people stared, “How hie can =ay his heart 15 mors
beavtifial, ey thougli? The voudg wan Liugled and sad,
“You st be jokme." "Comwpars your hest wilh wane.: Mine

1% pecfect amd vours s o meess of scare and leprs,”

"Yex", waid the old man vouds is perfect looking bt 1
wontld never frade with you. Yo see, every scar represents &
person to whom T have given my love- Ttear onf & piece of
my heart apd give it to them, and often they give me a pisce
of their heat which firs inte the empry place in mv hears, bur
bacanze the pisces aren't exast, | have some rongh edgss,
which T chernsh becanse they remind me of the love we
shared."

"Somstimes L have given jovs of my heart awav. and
the other person lasn't retumed 4 piece of his heat o me,
These are the ewmply gouges-giving love, 15 fakme a chance.
Althengh rhese gonges are paintitl, theyv stav open, reminding
mie of the love | have for these people roo, and [ hope
someday they mav retern and fll the spage | have been

waiting, 5o now, do vow see what e beaury is?"

The veung man stood silently with fzars moning down
his cheeks. Hewalked up fo the old man reached info his
perfect voung and beantifiel heart and ripped a piece our, He
offerad i1 1o the old man with ftembhng hands. The old man
rook his offering. placed man's hieare. Tt fit. et nat perfectly
as there ware some jaggzed edges. The young man Ieaked ar
his heart, not perfect anymoere but mose beantifial than ever,

sinee love from the old man's hear flowed inro his,



Sub questions

Question Number : 53 Question Id : 284703600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

People first thought that the voung man’s heart
was the most beautiful one because:

Options:

1 % he was handsome.

> « there were no marks in it.
= # there were lot of marks in it.

4 % he was admired.

Question Number : 54 Question Id : 284703601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The young man thought that:
Options:

, « aheart without any mark is a beautiful heart.

> % aheart without any injury is the beautiful heart.
- » @ heart with much injury alone is a beautiful heart.

4 % all hearts with injuries are beautiful ones.

Question Number : 55 Question Id : 284703602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why was the old man’s heart full of scars?

Options:
The old man fought with many people and sustained

, = Iinjuries.

The old man offered and shared his love

— with many people.

- % The old man sold his heart for money.

4 % Theold man did not get back some of his heart.



Question Number : 56 Question Id : 284703603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is true
of the young man?
Options:
The young man first believed his heart was superior but

, « changed his views at last after seeing the old man’s heart,
The yvoung man believed that old man’s heart was not the

- % most beautiful one.

5 % [Iheyoung man’s heart was the most beautiful one.

4 % Theyoung man exchanged his heart with the old man.

Question Number : 57 Question Id : 284703604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What did the young man do to make his heart beautiful in
the end?
Options:
He gave a piece of his heart to fill a gap
1  inthe old man’s heart.

-~ » He took a piece of old man’s heart to fix in his heart.
Both the young man and old man exchanged pieces of their

3 # hearts.

4 % Theold man gave a piece of his heart to the young man.

Question Id : 284703599 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 53 Question Id : 284703600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AN & g |rEm or R gEe av e
Options:

. v 39 W g fAere FE an
.« 30 W F= faema O

4 % JHT TIrAT Fr T o

Question Number : 54 Question Id : 284703601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g & | R -

Options:
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Question Number : 55 Question Id : 284703602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 284703603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ot & @ #ia o Fy7 g9+ & ¥ 7 T
g7

Options:
I N Tgel AAT A1 T 3Hemr & aca o,
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Question Number : 57 Question Id : 284703604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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OUANTITATIVE AFPTITULE
Section Id : 28470352
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 28470352
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 284703605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that should come in place of the question mark (?) in the following number series.

105 508 235 129 665 7 20875
Options:
1 % 34.50

Question Number : 58 Question Id : 284703605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 e 1 T9 W S Feafaidd 98T 4@er § v FEd () F T WO

1015 508 255 129 68LH 7 20875

Options:



. % 34.50
- ® 35
= % 35.30

. v 35.75

Question Number : 59 Question Id : 284703606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that should come in place of question mark (7} in the following number series.

15 18 16 19 17 20 ?
Options:
1 ® 23

2%’3 27

T W 16

4.+ 18

Question Number : 59 Question Id : 284703606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 BT &1 99w F A Reaofla g s § viF BE (7) F e 9 HReEm)

E 18 16 18 17 20 2
Options:

1 #® 23
- & 22
o ® 16

4 v 18

Question Number : 60 Question Id : 284703607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is 25% of 30% of = of 2,000?

Options:



.UJ
®
LA
)}

Question Number : 60 Question Id : 284703607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2.000 ¥ g ¥ 30% T 25% FAT FEI?

Options:

1 % 36
- % 40
o ® 55

4 v 60

Question Number : 61 Question Id : 284703608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

18 litres of pure water was added to & vessel contaiming 80 hires of pure milk. 49 litres of the resultant mixture was then
zold and some mote quantity of pure milk and pure swater was addad 1o the vessel m the matio of 2@ 1. If the resultant
ratio of milk to warer in the vessel was 4 ; 1, what was the quantity of pure milk added to the vessel?
Options:

1. v 4

2.533
3_331{]

4 B 12

Question Number : 61 Question Id : 284703608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

18 #ieT 3@ I UF Foa H 570 A1 7, HEH 80 #e¥ o gy #1 aftrHrEy wreA femr #r 49
Wt AT &9 & AT § AR d0e § 9E gU 5 IE T A Fo #7OEW 20 1 & o & e
AT E ofy aioTEEET a0 # g F AW § s 4 0 1 @ Fr O 50w & Red ol o ey
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Options:



1 v 4
> % 8

Question Number : 62 Question Id : 284703609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the greatest possible length that can be used to measure exactly the lengths 7 m, 3.85 m?

Options:
1 % 45cm

>~ % 70cm
= Wi il

4 « 35cm

Question Number : 62 Question Id : 284703609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T HTEROR WIS SaTs et g, e WA Tm, 3.85 m & TUiE: ATE & T B S weer 12
Options:

1 % 45 cm

- % 70 cm
=z % 95 cm

4 ¢ 35 cm

Question Number : 63 Question Id : 284703610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Somit sells a washing machine for T 4,838 at a gain of 18%. What would be the profit or loss, iT it 15 sold for T 3.8567
Options:

1 % Profit of T 44

- % Lossof< 144



2 « Loss of T 244

4 % Profit of T 144

Question Number : 63 Question Id : 284703610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e, T FiiEer A T4,838 & 18% & W W a@en ¥ Ofy g¥ T3.856 # I =, o o o1 @il

IE GG IE

Options:
. % T 44 FT 0

L T144 Fr @l
. v T244 Fr @l

4 % T 144 FT WS

GEMEEAL MENTAL AEILITY AND REASONING

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

28470353
4

Online
Mandatory
6

6

6

Yes

No

1
28470353
Yes

Question Number : 64 Question Id : 284703611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third word on the same basis as the second word is related to the first word.

Porcupine : Rodent :: Mildew : ?
Options:
1 Fungus

- % Germ



= % Insect

, w Pathogen

Question Number : 64 Question Id : 284703611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

38 fased & I9a &1 I I weg § 3% 38 e AU & 98 YR gHT %8 T8
leg H T gl

. = - - .o
TR : FHdd = FEHG :
Options:
1 chelch

FHTaToT

R 9
= # EﬁE

4 % ISAAR

Question Number : 65 Question Id : 284703612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Perch : Fresh water : : 7 : Salt water
Options:
Crocodile

®

1.
Frog
z « Cod

4 % Snake

Question Number : 65 Question Id : 284703612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 66 Question Id : 284703613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Kwanza : Franc : Lempira
Options:
1 % These are ancient towns.

- % These are princely states.
» These are famous fishing grounds.

4 « These are currencies.

Question Number : 66 Question Id : 284703613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 284703614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Knot : Watt : Fathom
Options:
, w The terms are used by sailors.

» % [The terms are used for installing electricity.
- % Theterms are connected with rope.

4 They are units of measurement.

Question Number : 67 Question Id : 284703614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 284703615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that 1s related to the third number on the same basis as the second mmber is related to the first number.

R F el R
Options:
i ® 45
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Question Number : 68 Question Id : 284703615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 69 Question Id : 284703616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of boys in a class is three times the numbers of girls. Which one of the following numbers CANNOT

represent the total number of children in the class?
Options:
1 ® 43

o R 44
3 42

4 W 40
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GEMNEREAL AWARENESS

Section Id : 28470354
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 28470354
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 284703617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 1s the full form of FAO?

Options:

, w Fibre and Agricultural Organization.

» % Factory Acquisition Organization.

- » Free Arbitration Organization.

4 « Food and Agriculture Organization.

Question Number : 70 Question Id : 284703617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 71 Question Id : 284703618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Dronacharya Award is given in:

Options:
1 % literature.

> ® Dpeace.

-  Sports coaching.

4 % bravery.

Question Number : 71 Question Id : 284703618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 72 Question Id : 284703619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Iiatch List-I (person) with List-II (organisations they were primarily associated with) and select the correct answer
aing the options given below the lisms.

List-I List-TI
(a) GK Gokhale 1. Servants of India society
(b} MM Malaviva 2. Benatas Hindn university
{¢) C Rajagopalachari 3. Free India Society
{d) V'V Savarkar 4. Swatantra Party

Options:

L a—1.b-2.c—4,d-3
5 % a—3.b—-4.c-2,d-1
5 % 8—1,b—-4,c-2.d4-3

4 % a—3.b-2.c—-4,d-1

Question Number : 72 Question Id : 284703619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 284703620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country won the Sultan Azlan Shah Hockey Tournament in Malaysia in March 20137

Options:



1 % India

&,

> « Australia
- u Malaysia

New Zealand

o
®

Question Number : 73 Question Id : 284703620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 74 Question Id : 284703621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Valley of Flowers National Park lies in the state of:

Options:
1 « Uttarakhand

> % Jammu and Kashmir
= % Himachal Pradesh

4 # Kerala

Question Number : 74 Question Id : 284703621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 284703622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Retail banking is a type of banking that provides banking services:
Options:

|« only to individual customers in an integrated manner.

- % entirely to the agriculture sector.

- » only to self-help groups for their survival.

4 % only to big corporates and business houses.

Question Number : 75 Question Id : 284703622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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English Typirg Test

Section Id : 28470355

Section Number : 1

Section type: Typing Test
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Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470355
Question Shuffling Allowed : No

Question Number : 76 Question Id : 284703623 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITEnNs history 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 28470356
Question Shuffling Allowed : No

Question Number : 77 Question Id : 284703624 Question Type: TYPING TEST Display Question Number : Yes

The winter solstice, also knowt as nmudwinter, 15 an astronorrncal phenomenon marking the day wath the
shortest period of daylight and the longest night of the year. The winter solstice is in full stride on Decernber
21, every year, which boasts the fewest hours of daylight of the year. Although the solstice gets an entire day
of recognition, it happens in an instant at 1128 am EST, when the North Pole is at its farthest tilt of 225
degrees away from the sun. This position leaves the MNorth Pole beyond the suns reach, and plunges it into
total darkness. In the Southern Hermisphere, the sun will shine directly overhead at Noon at exactly 22.5
degrees south of the equator, along the imaginary latitude line known as the Tropic of Capricorn, which runs
through Australia, Chile, southern Erazil and northern South Africa. This is when the sun appears to be at its
southernmost point in the sky. As such, the Southern Hemisphere has its longest day of the year, and the
MNorthern Hemmisphere has its shortest day of the vear, on the Decermber solstice. At the moment of the solstice,
the sun will also reach its southernmost point in the sky in the Northern Hemisphere. After that moment, the
surn will stop moving scuthward and will begin its trek northward in the sky, hence the narme solstice, which
means surl stands still in Latin. After the winter solstice, the days will begin to get longer in the Northern
Hermisphere. But that does not mean ternperatures will increase inrnediately. Rather, northern mid latitndes
will experience the winter chill partly because they will get about 9 hours of daylight in the weeks following the
solstice, cormmpared with the roughly 15 hours of daily sunlight they get around the surmmer solstice. In
addition, the Northern Hemisphere is tilted away from the sun, making it colder. In addition, evern as the days
get longer, the oceans, which moderate temperatures on land, need a vast armnount of energy from the sun to
heat up. There are countless cultures that have recognized the winter solstice. The most farmous is in
Storehenge in England. When the sun sets on the shortest day of the year, the suns rays align with
Stonehenges central Altar stone and Slaughter stone, which may hawve had spiritual significance to the people
who built the monurment. Across the world in Mexico, Yacatan Peninsula, the ancient stonewalled Mayan city
of Tulum also has a structure honouring the solstices. Wwhen the sun rises ol the winter and surmrmer solstices,
its rays shine through a small hole at the top of one of the stone buildings, which creates a starburst effect.
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